HE M FYENE (HZE CHAICH = &) HE I FHEE (B CHXICH = &)
(20209 128 31¢ &) (CH9] : #arel) (20203 128 31€ X)) (G
a5 =% a5 =% a5 =% a5 B
Rpak = Xpak L
I. f&X 4,150,303 | I. S5 1,914,880 || I. S SXtu 2,587,330 | I. S5 1,123,039
g YR 1,479,767 Of 4 X0 F S 7| EFXH 2 1,126,273 g Welg At 921,357 Of 4 %0 F 7| EfxH 2 691,406
7|EtE 8 RH 54,108 S PR 406,201 7|Et5 & Attt 53,111 [N R 368,121
e = = e 995,621 da3 26,898 Of = xHH 7| EHY 2 1,105,177 =3 2,658
|t = 230 G718 M| £ xH 29,336 daa 51 718 QM| £ xH 15,549
k== 963 SIS 204,681 deHlE 17,356 R B | 2,822
HZHlE 57,320 R R | 14,531 TH A Xpak 420,057 s 493
G718 QUM KL 7,597 SYEH 1,773 HhetH| Z 2|3 18,387 shE R 21,862
T AR 1,337,916 eHE R 23,400 O Z}Ofl E R A 51,834 7|EtRSEA 20,128
Hhetd| Z 2|3 17,785 O ZHOf G R} 22 B XY 34,813
0§ ZFOf Y R 198,996 TIEtRSEH 46,974
o. H| Xt 5,075,195 |II. H| S5 1,400,222 | |O. H RSx4t 3,236,591 |II. H|FS £ 96,568
A7 SR 72,461 [Pt 1,233,208 A 7| G E X 30,049 I171EHH & 78,542
S BZESERIL 200,955 FI171EHH & 80,567 SL7IYEX 725,477 =2 H S0 12,494
Fr1tols 2315 =2 2021y 30,567 S BZE S A 194,475 R RSN 5,532
FERHL 4,424,362 EREEE | 48,067 SR 1,897,438
AHEH AL 93,006 O] ¢ 2 QI A| £ X 1,128 AL BRHL 8,642
SR 138,251 7|EtHI S S 6,685 SR 133,017
7|Etg- & Attt 18,867 7|Et5 &ALt 14,544
oS HLSHE 26,324 |2 XS A 3,315,102 718 gHIE 22,738 |2 XS5 AH 1,219,607
Of 48 QI M| RFA 98,654 Of & QI M| XA 210,211
X2 X2
I.XHH71Y 2/ FXE 5,772,289 I.HYUx2a HEs 4,604,314
rEs 388,003 s 388,003
A=dos 1,045,201 A=dols 1,014,666
7|EpRt2 (146,701) J|EtRp2 (146,701)
7|EtE O R A Y 412,519 7|EtE & A 523,014
HEa 2,481,265 HEs 2,481,265
o| Yoz 1,592,002 ojj o= 344,067
. H| X6l X] 2 138,107
ESAH 5,910,396 IE2EA 4,604,314
XEA 9,225,498 b E = 9,225,498 XS 5,823,921 b E = 5,823,921
flet ol 3ag

2021'd 03¢ 17¢

AT F A 3| AL

AL 9| MFLEHEE Tttt M487| MEHEE S242 2HAM SIS AH 7|0 w2t 2y AS LT
AUB|HYQ HEOIA SALAA B B F



